
|  www.bosal.com/catalog  |

Fi
tt

in
g 

in
st

ru
ct

io
n	

M
on

ta
ge

an
le

itu
ng

	
Is

tr
uz

io
ni

 d
i m

on
ta

gg
io

	
M

on
te

rin
gs

ha
nd

le
dn

in
g	

M
on

ta
ge

ve
jle

dn
in

g	
In

st
ru

ct
io

n 
de

 m
on

ta
ge

	
In

st
ru

kc
ja

 m
on

ta
żu

Sz
er

el
és

i u
ta

sí
tá

s	
A

se
nn

us
oh

je
	

M
on

te
rin

gs
ve

ile
dn

in
g	

N
áv

od
 k

 m
on

tá
ži

	
In

st
ru

cc
io

ne
s 

de
 m

on
ta

je
	

M
on

ta
ge

ha
nd

le
id

in
g	

П
ор

яд
ок

 у
ст

ан
ов

ки

e20

3 100kg 120kg
15,09kN

D (kN) = MAX kg MAX kg 

MAX kg MAX kg 

x

+

x 0,00981

D =

CITROEN
JUMPER II, III
(L1, L2, L3)

FIAT
DUCATO III
(L1, L2, L3)

PEUGEOT
BOXER III
(L1, L2, L3)

04/2006 - 

E20*55R02/02*006941*00

Part number:	 083-852
Type number:	083-852
Class A50-X

Versi
on: 0

1

Date: 17-10-2024



2 Date: 17-10-2024  l  Version: 01

0Km 1000Km

M10

M12

M14

M16

25Nm

55Nm

135Nm

195Nm

R 14,5 max.

30o max.

30o max.

R40 max.

75
 m

in
.

75
 m

in
.

AA

100 max.

14
0 

m
in

.

PRZEKRÓJ A-A

55
 m

in
.

32
 m

in
.

35
0-

42
0

PL

GB

F

D



3 Date: 17-10-2024  l  Version: 01

A

B

C

D

E

E

F

2
6

4

2
8

2
8
6

2
2
2
4
6
1

A x1

B x1

C x1

D x1

E x4

F x1



4 Date: 17-10-2024  l  Version: 01

A

B

C

D

Pk
t. 1

Pk
t. 1

Pk
t. 2

Pk
t. 2

Pk
t. 4

E

Pk
t. 3

E

Pk
t. 3

Pk
t. 4

F



5 Date: 17-10-2024  l  Version: 01

M12x130 x2

13 x2

E x2

12,2 x2

Ø36xØ13x3 x2

M12 x2

E x2

12,2 x2

Ø36xØ13x3 x2

M12 x2

M12x180 x2

13 x2

M10x  x6

10,2 x

10,5 x

M10 x

Ø30xØ10,5x3 x

M12x35 x4

12,2 x4

13 x4

M12 x2



6 Date: 17-10-2024  l  Version: 01

M10x25 x1

10,2 x1

Ø30xØ10,5x3 x1

M10 x1

M16x45 x2

16,3 x2

17 x2

M16 x2


